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% %k ok ok ok ok ok FAAND ok ok k ok x k%
TBRX4A Bi¥ T =118 T

1 %M@ 717 734 1,451 629

2&/ 8% 491 507 998 373

3 fit 485 548 1,033 432

4 B 122 136 258 113

5 {815 837 836 1,673 743

S 136 151 287 125

7 18 28 35 63 36

8 JbHa/\FH 343 380 723 328

9 MmRR/N\E 457 486 943 459
10 HEH 379 434 813 367
1MEH 139 152 291 121
12t/ 363 407 770 338
13 B 325 344 669 283
14 5 1,007 1,141 2,148 948
15 & 202 235 437 181
16 | 256 258 514 269
17 @it 124 146 270 109
18 [LLUME 251 301 552 252
19 288 171 176 347 154
20 ¥R 133 146 279 123
21 A 306 335 641 253
22 hA{RH 211 229 440 192
23 BAE—TH 604 650 1,254 504
24 xAEZ-TH 478 509 987 371
25 AE=TH 613 722 1,335 543
26 A EMTH 626 723 1,349 547
27 TARA—T 214 241 455 164
28 #/E(I) 6 18 24 21
20 w/E(I) 4 16 20 20
30 BEx 22 2 24 24
31 F{E—TH 0 0 0 0
2 H{E-TH 30 39 69 42
33HXE=TH 1 0 1 1
34 XEBEMTH 693 755 1,448 607
3B HXERTH 374 409 783 314
36 XBATH 797 884 1,681 609
37 XBELTH 750 791 1,541 623
38 XB/NTH 695 767 1,462 531
39 XBATH 429 418 847 278
4 HEE—-TH 738 690 1,428 659
51 F5ES—TBH 580 548 1,128 371
52 ¥§ER_TH 507 544 1,051 360
53 BES=TH 564 652 1,216 438
54 FEARMTH 770 817 1,587 529
55 FBERSATH 595 620 1,215 344
56 FEESNTH 0 0 0 0
57 HESLtTH 0 0 0 0
58 EES/\TH 0 0 0 0
59 FBFEBNATH 0 0 0 0
60 BES—THI/F 151 182 333 131
61 BES-THAVIX 100 111 211 82
62 7RX-T=wia, O—} 152 179 331 120

X & B X 17,976 19,404 37,380 15,061



